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אWאאא 

 ¼®e >¿ÈeÇn¿º �C Ìe>mÝ>E %12+ 98 $  Æ %22+2007 $  Ëh²f�= Á=aÇj¶= ´¿E Î£i e>{C �Æ
 Íª�r¶= ¹>� � ÍÉ¿¯J¶= L=eÇìJ¶= ÍF²=Ç� ð=hÈh£IÆ ¶ ( ÍÉ¾Û= L>ÈÇjJ¶= ½>�¾Æ ÍÉ¾Æ�³¶Ý= Íq>¯�= ÍEfRJ

 ÊIÛ= ef¯I b¯ª6)  
 ð×Æ? 6 ­e>r�= Î·¢�>«JU×=º>¢ Í¶ÇÉi ÍFj¿E  À¢ ¸¯I × Í40 ! >Ã¿º10  ! ÍÈb¯¾ ÍÉ·]=a Í¶ÇÉi

 ¹Ç£«�= ÍÈe>j¶= Ëh²f�= ´¿F¶= L>i>Éi >ÃJVuÆ? �¶= Í¯Èfì¶>E Gj� * 
ð>É¾>M 6 Íº>£¶= Í¶ÇÉj¶= ÍFj¾ L>¾Ç³º 6 ) 

? * �jF¶= fq>¿¢6  ­fr»·¶ ÍÈfÃn¶= ÍÉ¾=hÉ�= GjU ½>®eÙ=  
1 Æ ´¿F¶= Áh~ ÍÈb¯¿¶= Ê¶Û= GVj¶= L>¿É²>º % ÍÉF¿QÙ=Æ ÍÉ·�= Í·»£¶>E$ 1010 
2 °Èfì¶>E ÍÈb¯¿¶= 1030 
3 Ëh²f�= Á=aÇj¶= ´¿E ­f{ Ëe>�= H>j�= bÉqe%ÍÉF¿QÙ=Æ ÍÉ·�= Í·»£¶>E$ 1120 
4  ÌbqeÙ= ð>r®>¾ Á=aÇj¶>E Í·º>£¶= ­e>r�= Ïb¶ ÍÈe>�= ­fr�= Ìbqe?

¶>E Í·º>£¶= ­e>r»·¶ ÍÈe>�= Á=aÇjÍ¢aÇ�=Æ ­fr�= Ïb¶  
1210 – 3010 

5  ÍÈe>�= ÌbqeÙ= ð>r®>¾ ÍÉQe>�= ­e>r�= Ïb¶ ÍÈe>�= ­fr�= Ìbqe?
 ­fr�= Ïb¶ Í¢aÇ�= ÍÉQe>�= ­e>r»·¶ 

1210 – 3010 

6  Ëh²f�= ´¿F¶= Íìi=ÇE Í¾Ç»v�= ÍÉ¶>�= ±=eÆÙ=%H>Ãm Æ Íº>Ãm $
 L=b¿j¶=Æ�¶= L>¾>»v² ÌcÇ]@�= ­Ø~ Í£E>J¶= ÄI>²fmÆ ´¿F·¶ ¹ÆÖI  

1420 ' 1520 
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 H *½>¯�= fq>¿¢ 6 L>º=hJ¶×=ÍÉ¾=hÉ�= ¸]=a  6 ) 
1  ÍÈe>�= ¤Ñ=aÇ¶= Ê¶>�CÍÈe>]a×=Æ  3000 ' 3100 
2  ÍFj¾10 ! Àº ¤Ñ=aÆe>»NJi×= Í¯·ì�=  3200 
3  �§¶= �>r¶ ­fr»·¶ Ìae=Ç¶= ¤ªb¶= fº=Æ?Æ L×=Ç�=  
4  ÁÇ«·J� ÁÇ¿Ñ=a % L>¯VJj»² ½>£¶= ¹Ø] ¤ªb¶= ÍFQ=Æ Í¿Ñ=a L>E>jU ÍÈ?

 ¬Èe>r�=Æ ½Çif¶=Æ Ì>²h¶=Æ GÑ=fv¶= ¤ªb¶= ÍFQ=Æ  $ 
 

 
1* L>º=hJ¶×=ÍÉ¾=hÉ�= Te>]  6 )                                                  XÉQ�¶= ÍFj¾  

1  Í¢Çªb�= oº=Ç�= ð>r®>¾ L=Ð>ì£¶=Æ dÉ«¿J·¶ Á>»v¶= L>E>ì] 5! 
2  Í¢Çªb�= oº=Ç�= ð>r®>¾ fÃm? ÍMØM ¹Ø] Í¯VJj�= Á>»v¶= L>E>ì] 20! 
3  L>E>ì]a>»J¢×= oº=Ç�= ð>r®>¾ fÃm? ÍMØM ¹Ø] Í¯VJj�= Í«·J^�= 

= ð=b¯¾ Í¢Çªb� 
20! 

 
 Ä�e>I Àº eÇn¿�= =dÃE ¸»£¶= ÏfjÈ* 

 
                                                      

¥ +Ëh²f�= Á=aÇj¶= ´¿E 
 Ê·¢ ¼ÉUf¶= bF¢ ½>r¢       b»� ÀÈb¶= _Ém ÏÇ� 

ÍÉªfr�= ÁÇÒn¶= Ìe=aC 
Ìe=aÝ= Íº>£¶= ¼É�¿J¶ �fr�= g>Ã�= ÍÉ»¿IÆ 

 
 
 

 


